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Oxford Depression Questionnaire (ODQ) Scoring System
All items are scored as follows:

Disagree = 1

Disagree a little = 2

Neither agree nor disagree = 3

Agree a little = 4

Agree = 5

Four dimensions can then be scored:

GR = 
General reduction in emotions 
= 1 + 5 + 9 + 13 + 17

RP = 
Reduction in positive emotions 
= 2 + 6 + 10 + 14 + 18

ED =
Emotional detachment from others = 3 + 7 + 11 + 15 + 19

NC = 
Not caring = 4 + 8 + 12 + 16 + 20

If required, a further attributional dimension can be scored:  

AC = Antidepressant as cause = 21 + 22 + 23 + 24 + 25 + 26 

Total  

Total  = GR + RP + ED + NC  

Subtotals 

Validation data suggest that two of the four dimensions (RP & NC) may be closely related to the phenomenon of depression as well as to the phenomenon of antidepressant-associated emotional blunting, where as the two remaining dimensions (GR & ED) are less closely related to depression.  It is therefore recommended that the following two sub-totals are calculated:  

RP-NC = RP + NC

GR-ED = GR + ED

Missing values
We propose that, if, after repeated attempts to obtain complete data from a respondent, only one or two questions have been left unanswered, it is reasonable to enter the mean value representing all of their other responses, to fill the gaps
. If more than two questions are unanswered, we recommend that an overall score 
should not be calculated. Also, this approach is only proposed for situations where there is only one missing response per dimension. Note that this approach to maximise the amount of usable data, was originally conceived as an arbitrary/pragmatic instruction to individuals collecting data – usually on a relatively small-scale. Clearly the more questions that are unanswered, the less reliable/valid is an imputation based on other given responses. 
If the nature of the study/analysis is to investigate measurement properties of a scale, imputation is not permitted when there are any missing item responses. If patients indicate two answers for one question, we recommend that the convention of using the worst (most severe) response is adopted (during data entry). 

Where item responses are missing, a be imputed from data that is present. 




� As a matter of good research practice, in order to minimise the risk of introducing errors, if this method of imputation is adopted, a missing value should be used when data are entered, with imputed values only produced using a single computerised operation (and on a copy of the original dataset) during the data preparation stage i.e. imputation should not occur at the data entry stage.
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